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The systemat equations 1 =3v+3: =05 +y—r=0. v+ ly+z=U Liis

1A) unmgue solutwn (B), many soations

(CH oo solution (D) ether trivial solution or many solutions.
1 11

161 and 3 are elgen values ol A=+ 0 2 ]{then the third cigen value s
R 1

By B (e | T I 1 T

e
At

The function . v)=a"+ o = Jax o (a1 s DS Inmu ut
4 [ i, =el) |B} | =l =i} i ler! II]:I { =i}
i l:j-' [ el 1|
It i =wr+by and v =cx +dv then - —
e
: I i v , I

1A By ac-hd il (el = I

|||‘f|I _J:'I.' i 120

i & < i s £ | = = & 5 = ¥
LetioZ — Zbeafrrcuondelined by flxy=20 -0 Tor oo Z 5 Zbe o functing Jefined
by ¢la)=3v+ 2 then fog is

1Ay Sr+]l By fAx+ll (Cy Sx+4 W TR - T

The dual of the Boolean stoicment a4ia £)=u~6H 1s
A} aria whl=a+h (BYy a ~labl=ab

(O el o= (I alabl=axh

Two persons A and B independently solve a preblem with probabilinn 06 and 0.8
respectivelv, then the probability that at least one of them solves the prohlem s

LAY 08 IBi 048 (Cy 020 (D) 0.92
. . . - oy = I = .
The variance of a unitorm distiibuton £09= 0 9= 3= and O others e 1s
th= ,I' e = - fr = ) fli_ ol
|4 : ]:““ 18_.1 2-'- (L) - :“-'- LD \JI’E
A 2 S
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LAY secunt method fB)  brsection ne2thod
1CH resula false method Dy Newton-Rapheen methnd

10, For whieh ot these numerical miegraion methods the iterval should be divided o
even number of subinterval: 7
LA Simpson /3" rule (By  Trapizoddal rule
1C1 Weddles rule (In None of these

1. While computing the n” Fibonace: number Fie through recursion. the number of leat
nodes i the tree of recursive calls 1< equal 1o
1A} In By Fin+l) (i T ] Y M

12, Which of the following statement- be~t relites the corresponding crowth raes of
execution time to its efficiency class
LAY 11 3n+5n+8 loo n) e Bin- 1By (la3n =248 los ny e BT log n}

1IC1 (B3a+3n+8 loonp e Oin™ +log ) D (13 =308 los ny e chn Loe oy

13 Whh of the followmg 1s applied to resclve collisions without cluster formation in o
hash table ?
1Ay Rehashmg 1By Extendible hashing
1C1 Double hashing 1131 Closed hashing

14. The best case time complexity of siieple in-cruon sont algoniling s
1A} €hnty (5, (log n) (CY  Hindoo (Dy @&t

fa—
L

The number of multiplic stions required to multiply two % - o mairices using Strassen’s
nxthod with Divide .nd conguer strate oy belonas to
1A} Bin (B) &ialoeTy (C) Bin logn Dy B

16, The recurrence equation for fiuding number of comparisons required tor identifymng the
£ order statistic i a st of 7 pumbers by partitioning it using decrease and conguer
approach =
1A Cint = 2CI 2 =nyl By {n)=Cin-li+n
1Cy Cin = Cind 2 p+n+ (D) Ciny=(n/d-n

1

17, The number of distinct biniry search trees possible to accommodate a given collection of
B kevs 1s equal to

A 14 1By 1

i
-

(Cy =32 18 5o

18, Which algorthm design strategy i used m Warshall's algorithm for Hndmg transitive

closure of a graph !

LA Dynamie Programming (B)  Greedv Technique
1C1 Transtorm amd conguer Dy Divide and Conyuer
Set-| A | 3‘ s
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subsets of a set” for dynamic partitioning of vertices

LAY Flovd s slgorithm By Rruskal's algoriiim
1 Primt's aleorthm (L Dijkstre s algonthm

Finding the most saluable subset of 2 ttems of a given integer weights and values that i
o a knapsack of & given capactly s known as Knapsack problem It is classitied ioto the
sl ol

A1 Tractable probleni: (1) Undecidable problems

1+ NP-hard problems (131 NP-complete probkems

With regard 1o computational complexity lisses ot problems (Poand NP whicl o1 e
fullowing statements is correct
1A NPoF (B) NP=P 1y Beo NP I3y Pand NP e dispeoan

W recurrence equation tor the nuiber o disc oo ments required for Towers of Hamn
1} LITer: lation tor the nunl | nis rey fer Tuy tH
problem using recursion is

tAY Min) =2Min=1) + 1 By Mici=Anf2)+n=

1Cr Min) = Min-1)+n +1 I3 Mini= 2Mind2 1+ ]

Which of the following data structure 15 nost suntable 1o reprosent a prory guete 7
LAY Circular Queue (By  Sumpele dinwesieral Array

(C+ Max Heap 0 Linked hisi

Which of the following data strucidre 1 omwest smtable for represenime arshmelic
]

expressions involving repeated sub-expressions
1A} B-tree 1By Bipary tree  (C)  Stack (D) Directed Acvchic Graph

The posttix equivalent of tle infiv expression P+ Q% (R- 8T 15

tA) PQRST/-#+ 1By PQ-RST/~* (C) PQ+RS-T/= Iy PORST+*

Which of the [ollowmye data structure supports Lraversal of a dynamic list m both the
directions !

1A) Smely linked hst with header node

1B Smgly inked Circular hst

1CH Doubly linked hst with header node

1Dy Binary tree

1t the postorder sequence of nodes of & binary search tree s 20, 23, 36, A8, 4N which of the

rollowmg seguence of nodes varresponds to 1s preonder sequence 7

(AL 48 36,23, 3068 (B 45,23, 30, 30, 68
(C1 45,68, 30,36, 23 (D) 48,23, 36, 30, 68
A 4 s
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A1 Complete Binary tree By AVL lree
(Cr Strsetly Binary tree (1%} Threaded Birary tree

The number of swaps (exchanges) required to sont the list containing 22, 63, 34, 38, 84
using Bubble sort algorthn: is

Ay 4 (By 2 (Cy 5 (D 10

In C programming the clements of o mult-dimenswonal array are stored 1 contiguous
mEmory lucutions in

LAY colunm major order 1By row mpior order

1C1 as per the ammay declaration M vares with operating svsten:

In C programming self referencing structurs« are essentiad to unplement
1A Linked lists (BY  Quelies Oy Staeks 10y Complete bunary trees

In C programming, if "x" is declared &= "stauc me s=1 10 a fundion o
1A the scope of "x7 18 hmuted o funchion “foo’.

(Bt the extent of "X continues until the progran: termges,

1Ct once mitialised X7 1s pot re-indtialised m the <whscguent function clls
1 all of the above options,

In C programming. a variable ‘a5 declured as tlowr ar]SI55] Wihich ot il
tollowing expressions refers to the base address of the 47 row n O™ nsarix 2

LAY Framrad (B *arr+d) (Cy "= (DY  arrfd!

In C programming. which of the following mode strings = uscd i topen statement to
open a text file for gpdate 7

I Wt By r+ C) o oa+ Dy owt

In C programmung. which of the following “format specitier’ 15 used to read a hexadecimal
integer using a “scanl” statement ?

[y Sl 1By X Ry ek (D) %D

The probleny of finding whether a given graph has a path that storts and ends at the sanw
vertex while passing through all other vertices of the graph vractly o e is called

1Ay Graph Traversal Problem (B)  Hamultonian circunt problem

1CH Travelling Salesman Problem (12 Eulerian circuit problem

Wath reference to Inter-process Communication which of the following is the nanw of the
mndivisihle L'!.TH_"['LH!UD to read the coments of a nxenwr '-., locition mto a ['L‘L_*l}[ﬂ[' ollowed b"-
stortne & non-zero value into e meory location read

1A} Semuaphore (By  Critical sectinn
1Cy Test and Set Lock mstruction (D Monor
A | 5 S
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caused by another process in the same set is refered Lo i
1A Race condition (By  [Deadleck

1Cr o Starvation (LY Criwal ~ection

Which ol the tollowing 15 used 1 Unix operatmg system to maintan the mdex of the disc
blocks used tor storing a file !

LAY Tenode By Fule descriplor

1CH Syvinbolie link (D Acvess conlol st

When Round robin alporithim 1s used fur CPU schieduling if the time evantun: Jor context
switching 1s large. the performance beconwes soniha o it of

A1 Shortest jab first scheduling By Farstan pirst oa sgheduling
1+ Priority scheduling Y Jena terms scheduling

With reference to acvehic graph ile; direcrores mypiementation of which of the tollow g
file operators requires ‘reference counl’ o mamntin 1he number of file ~harers ?
1Ay Creation of hile tBy Deletwm of file

1Ct Garbage collection 11y Crection of subdrectory

Which of the following problems 1s associiied wil suluple contiguous variale partitaon
IAMVT ) allocation ?

1Ay Internal fragmentation vBY Thrashing
11 External fragment:tion \[2)  Increpsed effectine access time

Namk the memory management scheme that baadles tory Lo sddie s space~ conlainimg
pages by keeping ondy reler ant portions of puge table in RAM.

1A} Segmented paging 1By Paged secmentation
(C} Paging with B-tree indexing (D1 Extended Paoing

Which of the following memory marazeient schemes provides the most appropriate leve!
ot protection and sharing for the users data and code ?

1A) Paging (By  Muluple verable partittons - MVT )

(CH o Seamemtation (D) Segmented pusing

It the probability of page faull 1s UOU0T and averape page fault service time 1s 500 times
rore than the memory access time. the pereentage dearadation of effective memory access
time due 1o demand pasing is

LA L0 By 1'% iy 5% (D) At

Which ot the tollowing aleorthms s o drum ¢ fixed bead deviee schedulmye alporithm !
1A Shortest seek time firsi (B} Sector queuning
1Cr SCAN (D} Furst come tirst served (FCES)

A fr S

collegedunia:

India’s largest Student Review Platform




= X

48.

49,

1,

L
o

R
[ 3]

e
)

St -

[ k_\'-_ I MRS T m v DLkl L E] _I_.'.J:lli']i L18cdl LIDCTLIAERS S U EERNITl L'UEL'\ 10 P ICLe EJU..\h[L."l‘L' TEET
of i resvurce suggests that the svstem s in

1A Unsale state By Deadlock state

(Cr Walt state (D Staivation state

As a consequence of impropor sequencing of the semaphore operators. Pand V.o in one or
nWre provesses in a set of concurment processes, the system nuy experience

LAY volaten of mutual exclusion condition

1B deadlock

1C deadlock or violation of mutual exclusion

1Dy doesn L influence the remaming processes 1 the =

The cryplographic system that process the wput o produce cutpat ece element at ot as
fong as the mput continues 15 calegoried

1A Block cipher VR Substmunwm cipher

(C1 Transposition cipher V100 Stream vipher

Digital signatures are not used 1o umpose 1
1A) Source authentication VR Messaoe sutheatication
(Ct Integrity v Contidentialin

In 2 packet switching network (PSN the Jrowback ot apphvine end-to-ond cnonptuon of
packets 1s that

1A} Packet header s ot readable by the PSN podes

(Bt user has no control on the secunty al ihe nodes of PSN

1CH o Higher encryption : deervption overheads.

1D Noene ol these

A tirewall is capuble of protecting the network agamnst the
1Ay Internal threats

(B transter of Virus—infected files

(Cr Unauthonsed users and vulnerable servics

(I Sudden hardware breskdowns

Attack on high profile servers with spurious requests and messages to overload the
nelwork s koown as

LAY Vius (B Trojun horse
T el of service (I lvoding

The sum of the ticst 7 terms of Lthe series oi cubes of natural numbers is

A T84 B) 540 (C) 864 (D) 696
A 7 s
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‘COMMUTE 1=
(A 3040 1By 2320 (Cy 20 (D gome of these

How many wavs can & committee of 3 members be formed from 8 workers and 5 managers
such that at least 2 manager~ shou ! be there in the committez !

1A} 560 (B) 32 (C) 88l Dy 29
The number 4560 1s div i=ihle (withoul remaindert by how many mtegers 7
LAy M By >0 iCy M Dy 28

Which of the following determunes the numbar of independent paths inothe thw sraph of a
midule used for testing & moduke of softw e beine Sovelopad

1A Chromatic number VB Csclomane complexits
1t Godel Number VD Catadan number

Which of the followimng 1s most suitable for estimeting the il effor reguired for seftw e

developnwent m terms of person-months

1A} Prototype model rHy  wateriull model
(Cr COCOMO mode] D Sparal el
During system design phase of software doevclopment, e criteria for nuedule desen is tha

the overall system should have

1A higher coupling

(Bt hizher coheston

(CH dower coupling wnad higher cohe<ion
1Dy higher coupling and lower cohesion

Which of the follbwing s the Imutaon of waterfall model for larce sotiware
developnwnt !

1A)  Innovative designing 1s nel supported

1Bt Linuted 10 automating an existing manual system

(C1 o Mikes the process decumentation heavy

(D Allof these

Canomcal representation of graphs is preferred for the purpose of tinding whether two
araphs dre
1AL lsomorphie 1By Conpecied  (C)  Bipartite (DY Acyclic

The value of the maximum flow i w aetwork represented as a weighted di-graph with
speciatly designated source and sk vertices 1s equal o

LA Capacity uf e weakest inunimum capable) edpee

1Bt Min-Cut of the craph

1CH Capacity of the weakest (iminimun: capable) path

1D Max.cut of the graph

A ] S
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1A A transaction wrtes a data gem aftor 1018 read by an uncommiited transaction,
1B A transaction reads o data tem after 1018 read by an wicununitted Lansaction,
1 Arransaction rewds a data e atier it s written by o committed transaction.
(D) A transaction reads @ Jdata com after 1t s written by an uncommitted transaction.

63, Relavonal Algebra is o
1A Duta Detinttion Luncige (B)  Mets Language
1Cr o Procedural Query Language (1> None of the above

66.  Given the set of [unctional dependencies B--C. Co=h B-=D for the relational s« hen
RIAB.CD) Which of the follovmg Jecompositins Les dependency proserng
property i
1A Relation schemas (C. Ayand (C. B D)

(Bt Relation schemas (A, C. Dy and (B. I
1Cr Relaton schemas 1C. Ay and (A B, I
(I Al of the above

67. A check pointing system 1s needed

1A} to ensure syslent security 1Hy 1o recover from transiont Lilis
(Ct o ensure syslem privac_\r' ) B R ES sl ety
68. In cnuty relationship modeling representing the concept teacher teaches vourse’

slinbutes of the relationship “teaches’” should b

1A teacher code. teacher came, dept. phone no

1Bt course no. course name, semester oftered. credits
IC teacher code, course no. se1ester no

1Dy teacher code, course no, teacher name, dept. phone no

69.  Which of the tollowing 1s not a trans..ction maneconent SQL command !
1A) Commit 1B) Select vC) Savepoint (D) Ruollback

0. A relstion Remp v detined with attributes Remplempeode. name. street, city. state.
pixcode . Empeode is the primary kev. For any pincode. there s only one ity and state.
Also, for grven street, oty amd state. there 15 ust one pincode. In normalization terms.
Remp 1s a relanon n
LAY ANF and hence also i 28NF amd INF
(Bt 2 NFand hence also mn | NF
1Ct BONF and hence alse in 3NF. 28T and INF
1Dy 1 NF unly

Ser-| A | 0 [
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1AL Shadow paging ‘B)  Dumediate update
(C1 Deferred update AN None o the above

The tile orzamzation that provides very tast access to any arbitrary record of a file is
1A Ordered ile 1By B-Tree (Cy Hashed file (1)) Be-tree

A data dichionary 15 o ~pecial file that contans
1A)  The name of all fieids 1 all files

1Bt The width of all fields i all ftles.

1"t The data type of all fields n all tiles.
(I Allof the above.

Which of the operations constitute o bai st of openitions 1or ihipulating relation:!

data !
1Ay Predicate caleulus 1By Relanonul calculas
1CH Relational algebra i1y Nope of 1t abione

Which of the following device interface 1~ used 1o conneet lugh speed HDTs scanners.

printers, ete. 1o the host computer inhot pluzeable nonner

1A SATA (B) SCSI O IDEATA I DYAS

Consider the grammar with the fellovwmg rrurs aton mues wnd ©as the stut syimbol
E"E | #T value = value * value}

value = s alue!
" value = value + value

value = value)

"num value znum,value
Compute E value for the root of 1he parse tree of expression 2 f 32 & #0644
LAY 200 1By 18D (C) Lol Dy 40
Which of the tollowing suthices to convert coaritrary CFG to an LLULY arommar
1A Removing lett recursion alone
1Bt Factonng the erammar tlone

1 Remwowing lett recursion and factormg the grammar
(DY Nooe of these

The pranunar S=558: 8§45k 531 )52t i
LAY Not LD as il s lefl recursive

(B Not LLi 1) as it s ambiguous

1C1 Not LReL1as it s ambizuous

1Dy None of the above

A 1 S
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LAY An unambiguous cramear has same left nwst ad czht nost dedvation
(B An LLely parser s a top-down parsci

1Cr LALR b more powerful thar SLR

1Dy Anambizuous grammar con neves be LR (K) for any K

In & bottom-up evaluation of a svntax directed detinition. mbernted attributes can
LAY abwavs be evaluated

(Bt beevaluated if the getinition s L-attnbuted

1CH be evaluated only if the definition has synthesized attnibutes

1Dy oever be evaluated

In a programming binouage, an identifrer = poroutted o beoa letter ollowed by oo
nurber of letters or digis. It L and D denote the st of letters and digits respectively.
which of the following expressions detines cn denutbic

(&) (LUDY B LALIUDY A d.1F FE ST M

Which of the following lechnigues is gsod to replice run-tine computations by compile

tinte computations

LAY Invanant computation 1B Peephude opimzation
(C1 Constant Folding 1D Code bossting

In vperator Precedence parsing precedence relatinns ore defined
1A)  Only for a cortun pair ot terminads and o delint b hondle
1B Tor all parrs of termunals

(C+ Tor all parrs of noa-teriminals

(D Mone of these

Which of the tollowing algorinms corresponds to the pre-order traversal of nodes of an
undrrected craph

LA} Depth first search 15 Brosdeh first search

1 Topological sorting Dy I'mim's slgorthm

A shitt reduce parser carmes out the actions specified wihin braces immediately afier
reducing with the corresponding rule of & grammar

S-=xWiprmt 717

S-=Y (print "27)

S->Szipont =37

What 15 the translution of XXXXYZZ wsng the svitax duected trenslation scheme
described by the above rules !

1Ay 23131 |BY 11233 (Cy) 11231 (D 33211

A i S
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G s a Chomsky normad form ™!
LAk 2 iBy 21+ My -1 (D |
Which of the following is true for the lanouage {ap | pis a prine] 7

LAY ltis not accepted by & Tuning Machine

1B1 ltis regular but not comuxt-free

(Ct It s context-free hut not regular

(Dt is neither regular nor context-tree. but accepted by

A minimuim state deternunistic funte astonaton cocepling
L= |wiw ¢ {01 }*, number of Os and Isinw e i
LA |B) '

I3 states 1] slates i [ gl s
Consider the following grammur

G:S +bSlaAlb

A —bAlaB

B—bBlaSla

Let Nadw) and Nb (w) denote the pumber of as ol bs
languace LG} {a, bj+ generated by (s

1A 1wl Natw) > ANb{w) ]
Cr wiNaiwi=3k. k{0, L2 .|

14§ ow | Nbiw)
13 sl Mhfa

The tollowing diagram represemts & finne state nwchine
number from the 1oasi significant bit,
10 1
1/0

L1 Qo

Which one vf the tollowmng s TRUE ”

the languase

; ..I'Ilj 7 .':."u_.-:.' |

in o stripe w

= 2Nhiw
Mok

which takes

LAY Tt computes s complement o1 ibwe Input number

1B1 It computes 2's complement of 12 input number

(Ct It increments the input number

(D It decrements the mpul number

The lanouage accepted by this automaton s ¢

LAY B mabt ab v (B) ta+by”

Cr b*Fata+m® i1 h*gh=ah=
The num function of a browser is to

1AL Compile HTML (B) Imterpret HTML
1C1 De-compile HTML (D Interpret CGI programs
A 12

I.[..HI:T‘. [ 8 O] IV OLIOET O W LIL W, 3L

a Turing machine

HE

oSl

peely. The

1 binary

lven by the repular expression
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LA onsubi 1By onmouscover (C) opload (L oautouscout

W Which language s called client-side soriptne langoage !

[AY ESS IB)  HTML (Cy JavaScript (D) JavaBeans

95, Which ot the following is stored on a chient and contaims state mtoristion
1A} Servieg (HY Cooke (Cy  Sesswon (1 ISP

0. The mimnnom number of timing sionals required to feteh an mstruction for executing it s
LAY one (B} two (Cy  ihrec (D) four

Y7.  How many memory references are noeded 1o brine o storise cperand o the cocmmulatog
while processing a direct address mstruction !
1A} zero By one Cr e 110y three

98.  The hardware prionty interrupt scheme mmplemented veang serally conneced U0 deviees
15 called
1A Polling vH Mashed intermipts
1C+ Vectored iterrupt Vv Duarsy Chunming

uy, A hypothetical system is designed with a tdR - 1A RAN and twoesan or associathe

vache memory of size 1024 cache menwory words, The wagth of 2ach coclic word is

(A =32 B 44 (C) 16 (Dy 32

100, Which ot the following coomponents are most essential for decning Bty Coudters !
1A) Dethip flops 1By Decoders (C) T-Mip flops (D) Multiplexers

101, In two-wired hand shaking method of asvochronous dita wanster the tollowing control
lnes are used,
LAY Strobe and data bus By Data valid and data sccepied
1Ct o Strobe and data accepted J¥ o Strobe and data valid

102, In floatmg pomt arithmetw which of the feliowing vperations dogs nat reguire montissa
alignnwent !
LAY addition 1By subtraction (C)  multiplication (D) division

103, The hexadecimal equivalent o octal number " 354258 s
1Ay ABIS 1By 951B (Cy  ASBD ([ none of these

114, The hinary equivalent representation tor the decimal number "12 8757 15
LAY Lot 1oml By T (Cy 1100 20110 (D) 101u 11011

o
-~
o
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106,

107,

1018,

1Y,

110,

111.

114,

St -
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decinu] number =997
PAY TOOTTI0L By 11001111 Y THOGE L0 (D Ul 10

Which of the following code provides Y - complement of a number by sunple bit inversien
Hogieal complenwentation) !

1A Binary Coded Decimal (BCD) (B)  Excess-3 code

1CE Gray code (I Farity cude

Which ot the following component s used to gererate timer signals at pre-specified tine
mtervals !

LAy Shift Register (B Multiplexers O Counnters [ Reoisters
Which of the following component is used o8 “paralleto-sernd converter” 7
A) Shift register (By  Cuounters O ALLD Iy Diecoders

Which Logic cireuit would vou use for addressine memory ?

1A Fulladder  (B) Multiplexer () Duocode 1y DALY

A Single bat full adder can be designed using
1Ay Two half adders and one OR gatz 1) Two fall wdders
1€+ One Ex-OR and tvwo NAND gates (D} Twao half adders und one ANI) oate

In the [Pvd addressing format, the rumber of networks llivned vnder Ul O sdoresses 1s
4y 2 By X (Cy 2 (Dy 2

LIOOTOOT 1s the message to boe sent o destizatton using the CRC polynomial 3x+1 to
protect it from errars. The message that should be trunsnutted is:
CAY THOOEOOTO00 By 110010070001 (¢ 11001010 (D) THOGH00T001 |

Station A needs to send a message conssune of 9 packets to dStatwn B using a ~hdimyg
window twindow size 3) wd go-back-n error contro! strateoy. All puckets are ready and
immediately wailable for ransmission, IEevery 3' packet that A wansmuts gets lost. bul no
ek from Bos losts then what s the number of packets that A will transmit for sending the
iressare to B 7

Ay 12 By 14 iCy 16 (Dn IS

An urganization las a class B network and wishes to form subnets tor 64 departnmenis. The
subnet mask would be:
LAY 23323500 (BY 235255640 (C) 23525512810 () 235253523240

A 14 S
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110,

116,

E17,

118.

119.

120,

St -

DS BRI TR VI B TS DAL 1y LN lUgL’?‘:. Puchiots aftt ST TEOIIF f70R0 Loy 100 el et
through mntermediate bridges. Since mere than ore path may exsst betwcen two LANS

packets mayv have 1o be romed througn multiple bndges. Why s the spanning tree
ilrorithm used for bridge-routing ©

LAY For shortest path routing between LANS

(B1 Tor avoeding loops in the souting paths

(Cr Tror fault lolerancy

(D For nunimizing collisions

Station A uses 32 bvte packels to transmit nx<sases o Staton B using s <kding window
protocel. The round trip delay betveen N snd B oo SO oullsceonds und the botzienedk
bandwrith on the path between A and B is 128 kbps What 15 1he optimal winduw size tha
A should use 7

LAY 20 By A ) Lbd 5B ) HE 1

In Ethernet when Manchester encoding 1s usod, the b rate s

1A Half the baud rate. 1B Twice the huud rate.

1Ct Sume as the baud rate. 113 None of the above

What 15 the maximum <ize of data that the application Liver can piss on o e TCP layer
bedow !

tA) Any size (B) 216 bytes-size of TCP header

1Cr 216 bytes (D) 1500 hytes

It Hink trunsnuts 200D trames per secocd. and vach slet Las S bits. the trans-nussion rate of
vircutl this TDM iy

1AY 3 2Rbps 1By S00bps (C)  S00kbps (D) None of these

An ATM cell has the payvload field of

1A) 31 bytes 1B 4N bytey (C) 6 bytes (1) 128 bytes

A 15 S
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